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|9t U9 U 3k %

1) Find out the missing number from the following diagram.

2) Find the last number of the following number series
10, 16, 13, 39, 35, ?

A-75 B-100 C-130 D-140

3) Which of the following would result in a value of 10.

If ‘X’ means subtract ‘¥ means multiply ‘+" means divide and
‘-’ means add.

A- 15+12x3%-2-3

B- 15x12-%-3+2-3

C- 15+12x3-2%3
D- 15x12+3%-2-3

4) O[] 2 [

HEHA

5) What is the mlssmg number ?

A-22 B- 24 C- 28 D-27

6) Who was the last Mughal ruler in India ?

A- Akbar  B-Aurangzeb C-Babur D- Bahadur Shah Zafar

6) Tt T d shT ST SICeE i o 2

A- SRR B- &fSiel G- &TeR D- SIETgR TE ST

7) In a certain code MONKEY is X DJMNL, how is “TIGER” written
as ?

A-QDFHD B-SDFHS C-SHFDQ D-UJHFS

8) Find the mlssmg number from the given response

hah e

A-31 B- 229 C-234 D-312

9) If the day before yesterday was Thursday, When will Sunday be?
A-Tomorrow  B- Day after tomorrow
C- Today D- Two days after today

10) Which number is odd in the given series ?
1,9, 25, 50, 81

A-1 B-25 C-50 D-81
11) Choose the one which expresses the right meaning of the
given word- Dubious

A- Doubtful B- Disputable  C- Duplicate D- Dangerous
12) Choose the word opposite in meaning to the given word.

DESPAIR
A- Belief B- Trust

C- Hope D- Faith

13) For PECULIAR related word which means the same is-
A- Characteristic B- Special ~ C- Specific  D- Universal

14) A disinterested king is

A- Sly B- Partial C-Impartial D- Blunt

15) Choose the incorrect word in the given sentence.
‘Our college has good furnitures’

A- Good B- Our C- Furnitures D- Has
16) Choose the Correct phrase for underlined Idiom: having

decided to elope, she was prepared to face the music.

A- To face difficulties boldly.

B- To throw a grand party.

C- To pay for a nice musical concert
D- To defy her boss.

17) Choose the better substitution of underlined part.
“All the boys and girls in the class must stand to attention when
the National Anthem is Sung,” said the teacher.

A- Each boy and girl B- Any boy and girl

C- Boy and girl D- No improvement

18) Choose the most correct word for Attain

A- Attend B- Achieve C- Maintain D- Obtain
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19) At last the Principal had to
the students.
A- Accede

to the genuine demands of

B- Exceed C- Except  D-Accept
20) The weather for today said there would be dust
storms in the north and the west.

A- Warning B- Forecast  C- Forewarning  D- Prospect

21) Select the synonym (has the same meaning) for the mass of
air surrounding the earth.

A- Atmosphere B- Hydrosphere ~C- Pressure  D- Lithosphere

22) Hardly had the teacher come into the class
students stood up

A- then B- than C- when D- whence

23) Pick up from answer choices which will complete the sentence
correctly.

So quickly
A- did he run that. B- he ran that
D- he ran as

he reached on time.
C- Would be run that

24) These days, my house is under
C- the repair

A- the repairs  B- Repairs D- repair

25) Select the pair of words as WIND : AIR ::
A- Request: Command B- Ocean : Sea
C- Government: Legislator ~ D- Master : Servant

26) Vector quantity means-
A-Mass  B-Weight  C- Direction  D- Non-directional
26) e AT T 37

A-s=EHE B-9R C- femm D- R fewmmensh

27) The unit of electric current is-
A-Voltage  B- Ohm C- mho

27) feryd v 1 3hE § 2
A-deest  B-3t®  C-Wer

D- Ampere

D- R

28) Density (97d) of a substance is-
A-VIM  B-MV  C-Iv Vit

29) Which energy is related to movement of particles of a
substance.

A- Potential energy  B- Kinetic energy C-Heat  D- Pressure

29) S 31t ol o G A ST 2

A- fearfast st B- Tt 3= C-d9  D-zaE
30) Which mixture is separated by the method of filtration.
A- Sugar and water B- Sand and water

C- Oil and water D- Sugar and salt

30) =IFT |1 10T ftheeXe ol fohem ¥ STl ol ST 2 |
A- = F O B- Y@ o 9t
C- &1 & it D- < & 9

31- Which is an oscillatory motion-
A- Movement of wheel ~ B- A car moving on the road
C- Pendulum D- Jumping

31- 590 ¥ i 4 eifered i ©
AT auRd i afq B- U O S GEh

C- g™ D- &

32- What is responsible for difference between mass and weight ?
A-Distance  B-Charge  C- Gravitational force
D- None of the above

32- IR 3R | H ST o1 R0 1§ ?
At B- amasr C- &Y
D- 3% ¥ HE &

33- The property which opposes the flow of current in a closed
circuit is

A- Voltage  B- Resistance
D- None of the above

33- =8 U1 it Uk quf Withe ¥ fagd yaTe w1 sfefivs § 2
A-deest  B-wfme C- 3t
D- Suger =i

34- Which is a translucent body ?
A-Clearglass B-Wood  C- Cellophane Paper
D- All (A), (B) and (C)

34- 55 | =l 9 U URE o] 82
A- 9T i (THE) B- eThel
D- |t 9

C- Both (A) & (B)

C- faele wrrst

35- S.I. Unit of speed is____
A- M/Sec B- Km/hr C- Dc/Sec
35-agfa/S.l. B nfa g

A-Hi/a®  B-fHoto/sier  C-S1/A®

D- None of the above

D- W& off &

36- Acids taste

A- Sour B- Sweet C- Sour and Sweet  D- Tasteless

36- ufife @R § FET BT S ?
A-@ear  B-dHier

<

C-@eer-Hier  D-9w@rg
37- Amerry go round is an example of what kind of motion ?
A- Oscillatory ~ B- Vibratory ~ C- Translatory  D- Circulatory

37- Merry go round ferr Tifer =1 Sl &
A-eifgeedt B-FuA A C- ®9iARd Md  D- framen Wi

38- The nucleus of an atom consists of

A- Electron and neutron B- Protons and neutrons
C- electrons and protons ~ D- All the above
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39- Hydrogen bomb is based on the principle of 47- An object that shines on its own is called a

A- Nuclear fusion B- Nuclear Fission A- White body B- Luminous body
C- Radio activity D- Chemical reaction C- Mirror D- all of these

39- BTEgeM =W fohy fagid W o 5 & 48- Reproduction takes place in bacteria is

A- I G B- wH1Y] faees A- Sexual B- Budding
C- Yfearafdar D- TR Hicifshan C- binary fission D- both (A) and (C)

40- At a particular temp, If we increase pressure the volume of a 49- CO, in the atmosphere has tendency to absorb

gas heat energy radiated by the earth. This absorption of heat by
A- Increases B- Deceases  C- No effect CO, is known as

D- Sometimes increases and then deceases A- Adsorption B- Desorption

40- P T AT R OFR B R N C- Tyndall effect C- Green house effect

SUEGE] )

A- ST B- = C- FE weeTa Tet 50- The three Rs to save the environment are

D- it TR, A T A- Remember, Reduce, Reuse  B- Recall, Reduce, Refund
) C- Reduce, Recycle, Reuse D- Reduce, Refund, Reuse

41- What is used by white blood cells to kill the invading bacteria.
A- Oxygen B- Carbon dioxide  C- Nitrogen D- Chlorine

41- T TR HITITERT i AT dTet SeTy] sl AR H o Heg ohidl € 2
A- SIS B- FeSE e C- e D- Fle

42- Which of the following organism can do anaerobic respiration?
A-Year B-Losch C-Amoeba D- Fish

42- 398 § ®H ¥ S9 SaFdT va9T i B-
A-@WR  B-Siiw  C- een D- A=l

43- Name the chemical used to test the presence of Co2 in
exhaled air.

A- Lime Juice  B-Lime Water C- Lime Stone D- Quick lime

43- 1 91 TR e 9 ¥ Co2 =t Hisfe srarr ¥

A- Lime Juice  B-Lime Water C- Lime Stone D- Quick lime

44- The number of times a person breathes in a atermed as
breathing rate?
A-Second  B-Minute C-Hour  D-Day

45- Chest cavity is surrounded by

A- 12 Pair of ribs B- 10 Pair of ribs
C- 11 Pair of ribs D- 25 ribs

45- BTl T T F foRgd forT g S -
A-9rE SISt vferdl  B- <9 e gafert
C- ™IRE SIS waferdt  D- v gafert

46- Wind pipe is called

A- Oesophagus B- Trachea C- Bronchus
D- Nasal Cavity
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